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[Roll Number

Candidate
Name

Test Center
Name

Test Date 15/06/2022

Test Time  |4:30 PM - 6:00 PM
Subject Level 5

* Note
Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

& o ot)R0t8 - u & ot - CEN 01/2019- NTPC

2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 5= F A O = F B AT e ek § ¥ aeg 59 T & = o i wuae, s
# war o 7

Ans v 1. TR H S
X2 TAEAS H AR
X3 TATAA H STEETST
X4 ST H AT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135818
1151353269
1151353272
1151353271
1151353270
Answered

1

Q.2 Fiffw wrumer s W ERRE v WfTE aeofy 8 9 F = Fr geRh @ e §1 giaes we )

iyl
Ans X 1.11.5%
X2 11%
3 12.5%
<4 12%
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

1151351210
1151354838
1151354837
1151354840
1151354839
Answered
3



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.3 12 a7 v SN W 245 BF T w0 T §1 49 fm F o0 g St we ¥ v o anefadh
Fr FeTEar gel?

Ans X 1. 40
X2 28
3 30
x4 50

Question ID : 1151351193
Option 1 ID : 1151354771
Option 2 ID : 1151354770
Option 3 ID : 1151354772
Option 4 ID : 1151354769
Status : Answered
Chosen Option : 3

Q4 gem, et T & o @ YT GERT A9 HA § AR R A F 2 6 A 9w q@w ag e
€1 38F 91 97 49 36 km & g FEfHT ¥ FT FAT ¥ GEH TF Thae AT HLAT 87

Ans & 1. 144 km
X 2150 km
X3 168 km
X4 132 km

Question ID : 1151351183
Option 1 ID : 1151354730
Option 2 ID : 1151354731
Option 3 ID : 1151354732
Option 4 ID : 1151354729
Status : Answered
Chosen Option : 1

Q.5 ve-fEr (El Nino), Ts TRwest ¥, Fras 3ive 9% & deadt el & 3501 Fogr uwie sehe @ € 3%
ofyeeaT fFE FEEER & g 87

v . gITa FFETT
X 2. TANeH HETERET
X 3. NTRfesh ASTETT
X+ g #gEmR

Ans

Question ID : 115135789
Option 1 ID : 1151353154
Option 2 ID : 1151353153
Option 3 ID : 1151353156
Option 4 ID : 1151353155
Status : Answered
Chosen Option : 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.6 mmﬂmﬁrﬁﬂamﬁaawﬁéumﬁwa&ﬁmﬁé:? F ST @ SIS §1 g

=S Fr EF 2T AT 37
Ans X1, 7504

< 2. 7,259
& 3. 5%
4 6.25%

Question ID : 1151351184
Option 1 ID : 1151354734
Option 2 ID : 1151354733
Option 3 ID : 1151354735
Option 4 ID : 1151354736
Status : Answered

Chosen Option : 4

O e § @ i @ nnfass o = us SeEeT &7

Ans 1 IET HeR
X2 gHEES

X 3 HIgllgd
X 4. STFHTSS

Question ID : 115135791
Option 11D : 1151353161
Option 2 ID : 1151353163
Option 3 ID : 1151353164
Option 4 1D : 1151353162
Status : Answered

Chosen Option : 1

Q8 vE FF e & Fweer, e, wlww & Fenyr &, 3 fom #r 3T 20 moTem 9% e g s
18 m =Tl T I a7 He, AT 20 m T AR AF # 9% A ge AR 12 mogee @ ) e
T 3ES AR g ¥ vhva #ie wgEan el gt ot 5 Rar # 82 (@ A Faw 00° A

A §)

Ans X1 40 m gf@ror Fr R
v230 m 9= & AR

X3 52 m gfgasm T 3T
X430 m gfF=H #r AT

Question ID : 1151352499
Option 1 ID : 1151359993
Option 2 ID : 1151359994
Option 3 1D : 1151359996
Option 4 ID : 1151359995
Status : Answered

Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.9

22/em? Fr & W, T o Fr v TRl w9 # T f SEE 3588 ¥ O 1 HEET (emS #) 74

H:fFw)
Ans 1. 343
X2 216
X3 512
x4 274625
Question ID : 1151351211
Option 11D : 1151354844
Option 2 ID : 1151354841
Option 3 ID : 1151354843
Option 4 ID : 1151354842
Status : Answered
Chosen Option : 1
Q10 Srfafee & ) 3
A ¥ 5 I A 3EAGeeT ME A FAY TR Wi fmar?
Ans
v Bege & T=
X 2. 9IS F AT IS
X 3. TFEY W I
X 4. COITHET ohT Ilaa
Question ID : 115135821
Option 11D : 1151353283
Option 2 ID : 1151353284
Option 3 ID : 1151353281
Option 4 ID : 1151353282
Status : Answered
Chosen Option : 1
Q1 Which of the following statements is TRUE about mixed economy?
Ans o 1.
A mixed economy is one in which the public sector (consisting of government enterprises) and the private sector
(consisting of private enterprises) coexist with each other
x 2.
A mixed economy is one in which the public sector (consisting of government enterprises) and the private sector
(consisting of private enterprises) do not coexist with each other.
x 3.
A mixed economy is one in which only the public sector exists.
X 4.
A mixed economy is one in which only the private sector (consisting of private enterprises) exists.
Question ID : 115135808
Option 1 ID : 1151353231
Option 2 ID : 1151353232
Option 3 ID : 1151353230
Option 4 ID : 1151353229
Status : Answered
Chosen Option : 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.12 95xm/h FF =T T TF W UF TS TF T F 18 FHS F R FAT ¥ Ioendr F w9 (F@ew H5)

et &7
Ans 1. 475 m
X2 4556 m
<3480 m
X4 465 m
Question ID : 1151351194
Option 1 ID : 1151354774
Option 2 ID : 1151354776
Option 3 ID : 1151354773
Option 4 ID : 1151354775
Status : Answered
Chosen Option : 1
Q13 Feer & o Tt & ¥ 3T = 99 Hiew
FITHT (Cumulus), TaTTeT (Cirrus), T&TeT FOTET (Cirrocumulus), T&TTeT T (Cirrostratus)
Ans J
X 1. qgrsT TIL (Cirrostratus)
X 2. qafreT 9l (Cirrocumulus)
x 3. qafreT (Cirrus)
« 4 FArEr (Cumulus)
Question ID : 115135815
Option 11D : 1151353260
Option 2 ID : 1151353259
Option 3 ID : 1151353258
Option 4 ID : 1151353257
Status : Answered
Chosen Option : 4
14 s ;
O oofafee F ¥ BT s & ged 3% s 9 ST
Ane X1 foEETEe
v 2. gHESE
X 3. TTESUSE
X 4. GTETSE
Question ID : 115135797
Option 1 ID : 1151353187
Option 2 ID : 1151353186
Option 31D : 1151353188
Option 4 ID : 1151353185
Status : Answered
Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.15 o R Fe amr #, af 'NEWTON' & 'LUCFKL' forar =rer &, 'PASCAL' &1 'JYGWYN' for@m srar
. @ % g7 s F TESLA' # fhw v B seem?

Ans 1 FUGNY

<2 FUGMY
X 3. FUFMY
X4 ETFMX
Question ID : 1151352498
Option 1 ID : 1151359991
Option 2 ID : 1151359989
Option 3 ID : 1151359992
Option 4 ID : 1151359990
Status : Answered
Chosen Option : 1
Q.16 @_
HaToH =T &T TTATST gl
Ane X ST
X 2. HgHI g
X3 AT geer
4 RIS
Question ID : 115135790
Option 11D : 1151353158
Option 2 ID : 1151353159
Option 3 ID : 1151353157
Option 4 ID : 1151353160
Status : Answered
Chosen Option : 4
Q17 19 7y 2021 # TAETE Touw F FEA ¥ W [EHR W FEATAS AT @ ar?
Ans o 1.
STANAST FBA HG fhed HwseH (FIAF) [EFR
s
X 2. gIcl Higd Wlco<h JLFRR
X 5. TENSEE ‘TS HFehe? 3TF & I [EFR
X 4. HgTeg 3N0T TEPN
Question ID : 115135785
Option 11D : 1151353138
Option 2 ID : 1151353137
Option 3 ID : 1151353140
Option 4 ID : 1151353139
Status : Answered
Chosen Option : 1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

33A, 44R, 41V, 54D, 213, C56, D46, V68, F36, G32, 61C, 47G, N55

Q18 7y #=r & =1 e & wiw g ¥ we s & ger fww e ¥, R O Aot a and A
ety fram e §, aF aiF o g e & mug F sneeh?

Ans o q 41
<2 44
3 46
<4 B4
Question ID : 1151352488
Option 1 1D : 1151359949
Option 2 ID : 1151359952
Option 3 ID : 1151359950
Option 4 1D : 1151359951
Status : Answered
Chosen Option : 3
Q19 o g &, F T ¥ B sftga w@e F F 90% FET & w9 ST s s v At F & 80%
e du )| Rl @ v der F § 60% de aw el wfe Reer & 64800 e wed ge, o S s
% fow sfoga et & g e @
Ans X1 125000
x 2. 200000
¥ 3 150000
X< 4. 175000
Question ID : 1151351190
Option 1 ID : 1151354757
Option 2 ID : 1151354760
Option 3 ID : 1151354758
Option 4 ID : 1151354759
Status : Answered
Chosen Option : 3
Q.20 143 el F wRE Wieew # EAREE 7 @ F9 @ 9w aftcer, T § Seeg o G
3R TT SEaeT 3R wed wer F v wer e
Ans X1 wa T
X2 e e
X 3. ;ggma' EETIE]
4 gifthaT
Question ID : 115135816
Option 11D : 1151353263
Option 2 ID : 1151353262
Option 3 ID : 1151353261
Option 4 ID : 1151353264
Status : Answered
Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q2 gt SR F AT § gt ower F fee weR @ wEe

Ans X125 & 28

X214 & 18
V3238 24
X419 @ 22
Question ID : 115135811
Option 1 ID : 1151353241
Option 2 ID : 1151353244
Option 3 ID : 1151353242
Option 4 ID : 1151353243
Status : Answered
Chosen Option : 3
Q.22 ve Rz # wEwr @ FE AT =T S Fw w1 e 5 2 7 o) 3y Regem # 931 wefer
off, & Fsr F = 7 Hem
Ans X 1. 705
X2 g75
X< 3. 635
v 4. 665
Question ID : 1151351191
Option 1 ID : 1151354764
Option 2 ID : 1151354763
Option 3 ID : 1151354761
Option 4 ID : 1151354762
Status : Answered
Chosen Option : 4
Q.23 ¢
o= & o FiF dvar o AT doase 2
Ans s, Ne
X2 F
X3 Ca
X4 N
Question ID : 115135809
Option 1 ID : 1151353236
Option 2 ID : 1151353234
Option 3 ID : 1151353233
Option 4 ID : 1151353235
Status : Answered

Chosen Option :

1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.24 fg 3T wHer F FAW: & Herr-3EET Mgyt A HR B E Twen oF Bl 3w # T 9 km
A &, B @ # AT g3ar 8, Ak 7 km Teer € o of¥ew F A gear g, A 5 km wwen €
i 3T & 3o 1 3 e 8, 8K 6 km TeER Rig 'C' W TEET 1 T e, TR Soo’ A AR5
km Terer &, 5 9fRaw $r 3 gear & i 9 km T ¢, # 3 F sew A s gz £ 10 km
Tae g 'C W Bw ¥ e 81 e At we F e Rigt F 9 & gl e &

Ans X1.13 km
v 2 11 km
X317 km
X4 21 km

Question ID : 1151352489
Option 1 1D : 1151359955
Option 2 ID : 1151359956
Option 3 ID : 1151359953
Option 4 ID : 1151359954
Status : Answered
Chosen Option : 1

Q.25 o fafiaa ge o &, el @ 3% 3¢ JUHET FH (S - A F 26 X Z F 1) F 3R geas
foram ST &) grentes, Ife ol =es & 8 uge 3R & 9E v T T &, O 3% F 66' F w9
# Feag fRar ST §I
T T ST #, LEGAL & T FT w1 gem?

Ans X 1. 1566226615
< 2. 1566222615
3. 1522662615

X 4. 15622202615

Question ID : 1151352473
Option 1 1D : 1151359892
Option 2 1D : 1151359891
Option 3 ID : 1151359890
Option 4 1D : 1151359889
Status : Not Answered
Chosen Option : --

Q26 fr=fafea & & =i @ RET FEE SaTE I B g & FAE el oR W R 32
Ans x 1. m

X2 AeTg

X 3. 9RIEATT

v 4 eI

Question ID : 115135793
Option 1 ID : 1151353172
Option 2 1D : 1151353171
Option 3 1D : 1151353170
Option 4 1D : 1151353169
Status : Answered
Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q2T N O T OIS RATIT] 0.002 + 5.025 - 35.08 - 5.058

Ans K 1. -45.165

X2 45,165
X3 35111
4 35.111
Question ID : 1151351205
Option 1 1D : 1151354819
Option 2 ID : 1151354817
Option 3 ID : 1151354820
Option 4 ID : 1151354818
Status : Answered
Chosen Option : 4
Q.28 ¢
e s Fass R T 7 2
3
Ans X1 wgge
2 A A"
<3 %;Tolm
K4 dIT
Question ID : 115135813
Option 1 ID : 1151353251
Option 2 ID : 1151353249
Option 3 ID : 1151353252
Option 4 ID : 1151353250
Status : Answered
Chosen Option : 2
Q2 fog i ¥ FT YA HRE F SITED F T WA T
A X FEr
X2 HET IS Yok
x 3. HfaEa HAT ok
o 4 HTOHRT
Question ID : 115135799
Option 1 ID : 1151353194
Option 2 ID : 1151353193
Option 3 ID : 1151353196
Option 4 ID : 1151353195
Status : Answered
Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.30 @ARPr ST SR 1 Fems 2021 F Hiws F HER, e # & FiF w7 & e @ At wefe
FAHEAT ATeT & &7

SR SEIRC
72 AT
X 3. graiter
7 4 orfeREare

Question ID : 115135798
Option 11D : 1151353190
Option 2 ID : 1151353189
Option 3 1D : 1151353191
Option 4 ID : 1151353192
Status : Answered
Chosen Option : 1
Q.31 Rt & 3§ g F T Bfew, B & 7 omer F o e § #EE w § @ )W ogmen
quT g SreEt
SLU_ _INGS_ ICING_ _UICIN_ _LuICl
Ans X 1. SLICLUGNGL
X2 SGCLUSNGSL
~< 3. LICUSLGLGN
« 4 |CLUSLGSNG
Question ID : 1151352492
Option 1 ID : 1151359966
Option 2 ID : 1151359967
Option 3 ID : 1151359965
Option 4 1D : 1151359968
Status : Answered
Chosen Option : 4
Q.32 Zrir siefe 2021 ¥ 3caTed BARE A 8T & 3T & & F1F F @ d@v FiF caemws 2
Ans
X 1. AT =9ET
v 2 Fada g
X3 gl Tg
x4 ¥ FART g
Question ID : 115135781
Option 1 1D : 1151353122
Option 2 ID : 1151353124
Option 31D : 1151353123
Option 4 ID : 1151353121
Status : Answered
Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q33 Gz 35 & ot g a9 A0M & siehE, STuTERET ST 8 3 KO & e HOT O & R 9§

Ars | T3T WEET THE

X 2. Taemeerar fea =@fea

x5 A 3T 52 fRae

x4
FRER, 7 HR FEX 35T T AT KT WAT 21 AW F H0 7

Question ID : 115135802
Option 1 1D : 1151353207
Option 2 ID : 1151353208
Option 3 ID : 1151353205
Option 4 ID : 1151353206
Status : Answered
Chosen Option : 1

Q.34 few o el S et @ camEE 981w # & I S # we A g0 AR #L e &
9% A Ad gt @ e wda @ g, el aw wt B R e et & @ w9 @ wvEt @
aifeher & & 9ol o 27

=

Tl o e £
wi R Agew €
o

. w=fr foverer o7 &

II. =i 7gs7 ==

Ane X 2T ey e R F
X2 Faer forsd || 9T Fear B
vi g ar ey | 3t F & Il 9 w1 g
X 4. Faer AvHy | qele T Bl

Question ID : 1151352495
Option 1 1D : 1151359979
Option 2 ID : 1151359978
Option 3 ID : 1151359980
Option 4 ID : 1151359977
Status : Answered
Chosen Option : 3



https://link.testbook.com/bQQ2EkH1bpb
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Q.35 z 10,000 Fr g Fr ¥ AFT F ST FF THEITE = W FEARE BT I Oger A 10%
AF 2T T AT AL § F 20% AEF & W FERT fra o, @ s f e aifie et
T R A § A @ A Ay TREEEar WO g gy @ 12,928 o, & 10% @ifiE Wiy

s & 2T W FEle g 7 e

Ans 1 % 6,400
X2 % 6,500
X3 % 7,200
X4 % 6,000
Question ID : 1151351182
Option 1 1D : 1151354726
Option 2 ID : 1151354727
Option 3 ID : 1151354728
Option 4 ID : 1151354725
Status : Answered
Chosen Option : 1
Q.36 aystames & UF T T §, S TF AF W AT = W, 37 & FH & 7l g v

Fefier & S T T AT WEEYE W e w1 E

Ans X1 gaTfReT

X2 @
X 3. SrdepTer
& 4 FACIE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135806
1151353221
1151353224
1151353223
1151353222
Not Answered

Q.37 39 & w 3N 9T F @ T U BT H, 20% B F I A1 S @ A T 3T AT F, 30%
AL I 91| A THeol v WREe s # e mn, S e @ RfAT av S 7
3T & @ AN TN F T H IS 4 0 3§ | e Bewr F ager ewr s guy s @

Ans

FAGER ]I AT BT

v1.9:26
x25:14
X310 : 29
X427

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351203
1151354811
1151354810
1151354812
1151354809
Answered

1



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.38 v Yo vE @A T @ v @fYed gt aw wer ¥ A g f 9 12 kmvh Hfoe @ &
3¢ il 937 9 8 O¢ &7 TH7 79 ofs o fr @ 12 km/h 9 g, a7 e s
uillg ¥A7 ¥ 12 9% 30+ TRT o=an o= i 9 (km H) AT Ao

Ans 1. 2880
X 2 1480
~< 3. 2860
< 4. 1440

Question ID :

Option 11D :

Option 21D :

Option 3D :

Option 4 ID :

Status :

Chosen Option :

1151351208
1151354830
1151354832
1151354829
1151354831
Answered

1

Q39 Zfx sin? - sin30° = 0 ¥ 3R B =T FOT ¥, @ B F AT AT DT
Ans x 1. 60”

« 2. 450

<3 Q0

x4 9Qf
Question ID : 1151351186
Option 1 ID : 1151354742
Option 2 ID : 1151354741
Option 3 ID : 1151354744
Option 4 ID : 1151354743

Status : Answered
Chosen Option : 2
Q40 T sew-mag RU aw §, Ed @ 97 B 9t § o £ 3N v aeed §1 wEeS @ Tae Afem
Ans X 1. YWE

v 2 JHQ

<3 KlQ

x4 GEM
Question ID : 1151352471
Option 1 ID : 1151359884
Option 2 ID : 1151359881
Option 3 ID : 1151359883
Option 4 1D : 1151359882

Status : Answered
Chosen Option : 2



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

¢4 98, 28 3R 112 F wgeaw FATE (LCM) w1 HfST]

Ans X 1.1176
X2 1568
X3 392
&4 784

Question ID : 1151351199
Option 11D : 1151354795
Option 2 ID : 1151354796
Option 3 ID : 1151354793
Option 4 ID : 1151354794
Status : Answered
Chosen Option : 4

Q42 37 gear @ 9ua Hiew, A FEAfaRa AvT F v REd (?) § T W AT Ear g
5, 16, 29, 46, 65, 88, ?
Ans 1. 117
X2 116
X3 107
X4 113

Question ID : 1151352484
Option 1 ID : 1151359934
Option 2 ID : 1151359936
Option 3 ID : 1151359933
Option 4 ID : 1151359935
Status : Answered
Chosen Option : 1

A8 O F @ T @ 0T RS B R 1 F A R R

Ans L

X 1. I

X2 AeAS
X3 goT

v 4 AT

Question ID : 115135786
Option 1 ID : 1151353144
Option 2 ID : 1151353141
Option 3 ID : 1151353142
Option 4 ID : 1151353143
Status : Answered
Chosen Option : 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.44 ozh ot AEw gEE FEAT ARE # F o g A wearg SN 19 3 1939 F wAT
mﬁmﬁmmtﬁv%g@l

Ane X 11 Seadr 1942
X2 1 FAELr 1942
X3 21 FAaLr 1942

v 4 10 ST 1942
Question ID : 115135810
Option 1 ID : 1151353239
Option 2 ID : 1151353237
Option 3 ID : 1151353240
Option 4 ID : 1151353238
Status : Not Answered
Chosen Option : --
Q45 Which of the following statements aptly defines ‘high powered money’?
Ans X 1.
Money collected from families or individuals and deposited in a bank.
X 2. Money consumed by families or individuals.
X 3. The excess of total government consumption.
o 4
The currency issued by the Central Bank that can be held by the public or by the commercial banks.
Question ID : 115135805
Option 1 1D : 1151353219
Option 2 ID : 1151353220
Option 3 ID : 1151353217
Option 4 ID : 1151353218
Status : Answered
Chosen Option : 4
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Q46 cr AN smr e - It I Rr v i sar s s T s s &2 & B

Ans

TEe/3TEEE §7

EEEH

Sede T AFd e, 10 FiEE # $w A e @

HUA:

. 9w 3 & FEw F1 v St 1140 F T

II. 3 FET =1 T 7Fw, 2 T & T g5 § 2560 HOF g

x 1.

FUT || FFer gUCT §, T FUT | Hhe qIT T4 £

X2 waa | AR w1l 2 3ETE £

3 7 ar FUa | IT7 FYT || 93T gl
x 4.
FUT | 37Fer TATT §, FaTd ST || 35 TUT =@r 2l

Question ID : 1151352490
Option 1 ID : 1151359958
Option 2 ID : 1151359960
Option 3 ID : 1151359959
Option 4 ID : 1151359957
Status : Answered
Chosen Option : 3
Q47 v BT uenfr 9w 0% @f¥w et @ T F & aut F o @ ey Teghy surer Ay Eemr s
& 3aT 7 97.2 ¥ ToRfem awwfer w1 HifEw
Ans  X1. 315,000
«2 312,000
X3 312,500
< 4.310,000
Question ID : 1151351192
Option 1 ID : 1151354768
Option 2 ID : 1151354767
Option 3 ID : 1151354766
Option 4 ID : 1151354765
Status : Answered
Chosen Option : 2
Q.48 TANT T YU o F Fgfed g W sEdfaw gag #r Ry s g
Ans o)
v 1 ey g
X2 zaedfas o
X 3. TEcATHYUT FoT
a
x4 qEdfaw To
Question ID : 115135812
Option 1 ID : 1151353246
Option 2 ID : 1151353247
Option 3 ID : 1151353245
Option 4 ID : 1151353248
Status : Not Answered

Chosen Option :
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Q49 smw ox v frel Rig & v gaE TES F e ET 45° | S 7T F 12 ddw f sEe &

TE, oAUl HIOT FEEHT 30° B T ¥l AR EE FETS 2400 m F FUS W 35 @ 8, o g2 @S
Fr = (km/h ) AT e

Ans o4 720(V3 +1)
X 2.72(1 ++/3)
v 3 720(v3 —-1)
x4 72(v3 —-1)

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351215
1151354859
1151354857
1151354860
1151354858
Answered

1

Q.50 A 3t B v @ T el w @ 10 fm # 0T o wea €1 afy A el O wR @ 15 i
qUT T TRAT & HR C e W FE 20 R & OO W TFar ), & B AT € v A Frew 5w
F # fre Re # 9of w wwa §

Ans o 1. 12
1
X212~
5
3
X3 11~
4
x4 11

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 1D :

Status
Chosen Option :

1151351207
1151354827
1151354828
1151354826
1151354825

. Answered

1

Q.51 21 7% 2021 =t TR FHr T (FIH) 2710 2 2 1 Brw wiaftes weem @ wemfea
ez e o 1ed

AN X 1. dafarer anf TFPR (Tenzing Norgay Award)
v 2 U&= Fafes &R (Etienne Glichitch Award)

X 3. THH TEFR (Aces Award)

x4 ail‘flnl‘-l? oTehsl TXEFR (Asunta Lakra Award)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135787
1151353147
1151353145
1151353146
1151353148
Answered
2
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Q.52 zmer: 6 cm, 8 cm 3T 10 cm fi=amst Sr B & O BT MAER FAww B AT vE e
A AT AT 8, §H YR BT 93 79 & F=wr (om #) 79 ffaw

Ans X116 cm

X215 cm
X313 em
v 412 cm
Question ID : 1151351204
Option 1 1D : 1151354816
Option 2 ID : 1151354815
Option 3 ID : 1151354814
Option 4 ID : 1151354813
Status : Answered
Chosen Option : 4
Q53 #fET-K LM N, O P QR3S v g # gffor & v g a8 33 €1 L M & @$ 3%
FTEAITMEMNFE M@ AT Nio g Kia sl o M w iz d Pk o
FITFET QI O KF I TN A ST S NFaTE IS ma H S &1 M
F OE 3N Fad g FF E5 T M F 9 3T S Foa H i For 2
Ans V’ 1. R
X2 Q
X3 P
<4 L
Question ID : 1151352485
Option 1 1D : 1151359940
Option 2 ID : 1151359937
Option 3 ID : 1151359938
Option 4 ID : 1151359939
Status : Not Answered
Chosen Option : --
Q.54 o 2021 #, wdferedr e R (Rebecca Grinspan) &t fFE Foeay &1 Fgrata Tges frar smar
Ans
1.
X 1. PUA-HR.CHEHN. (UNISDR)
X 2 TUA.TIHR.H. (UNHRC)
o 3. q\mm?ﬁ',ﬂo 8. (UNCTAD)
x 4. IfAA® (UNICEF)
Question ID : 115135788
Option 1 1D : 1151353151
Option 2 ID : 1151353149
Option 3 ID : 1151353152
Option 4 ID : 1151353150
Status : Answered
Chosen Option : 3
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Q.55 *
A =g F g3 R

30 - (40 - 22X 10 = 5)x 6-4

Ans x 1. 896
X2 375
v 5
x4 300
Question ID : 1151351202
Option 1 ID : 1151354807
Option 2 ID : 1151354806
Option 3 ID : 1151354805
Option 4 ID : 1151354808
Status : Answered
Chosen Option : 3
Q.56 = 1 A B, C, D, E 3R F v geam sqeeen & 35 1 3R g@ w0 3 & fg s swr e
g wfard 7 ¥ B 3R E, v - g@Y % &% 9w A g7 85 €1 B, A F TS T gEy T W e
FCAF S e AT IDsiNAFSo d Fmaraafaa s &
F 1 doa & TRufy =1 37
Ans o
v 1 C % 8 3T Jay T o1
X2 AR C I & S s A
X3 E & 918 3T 8% s97a A
X4 A AR AT G BWE W
Question ID : 1151352474
Option 1 ID : 1151359895
Option 2 ID : 1151359894
Option 3 ID : 1151359896
Option 4 ID : 1151359893
Status : Answered
Chosen Option : 1
Q.57 &
FieTehel, H & =T 960 TF FF Fol g |
Ans -
X 1. 3caT 9&U F 9IeTAT ST
X 2. ISRIA & STETOT ST
X3 3eal 9& F AT ST
¥ 4 HTeT & Scadl ATemER &F
Question ID : 115135824
Option 1 ID : 1151353295
Option 2 ID : 1151353293
Option 3 ID : 1151353296
Option 4 ID : 1151353294
Status : Not Answered

Chosen Option :
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Q358 Kuldiep Singh took additional charge of which post in May 20217
Ans 1. Air Officer in Charge Personnel
X 2. Deputy Chief of Army Staff

« 3. Director General of the National Investigation Agency

< 4. Ajr Chief Marshal

Question ID : 115135783
Option 1 ID : 1151353131
Option 2 ID : 1151353129
Option 3 ID : 1151353130
Option 4 ID : 1151353132
Status : Answered
Chosen Option : 3

Q59 miw e - P, Q R, S 3R T vs 9T # 3eow $r 3T 7@ w5 3§ R 9 F & wew F g
TFnSHTRFE I IT oo it Easdr o izt Q i §F Ay W= &=
Bl P ¥ a3 3T g o W Hi ¥ §

Ans o q. Q
v 2 R
X3S
x4 T
Question ID : 1151352493
Option 1 ID : 1151359969
Option 2 ID : 1151359970
Option 3 ID : 1151359971
Option 4 ID : 1151359972
Status : Answered
Chosen Option : 2
Q.60 arze Ffy foaT FEFA (IADP) 9 # A F far # 9ge 92 9O % w9 F ofF gam
Ans X 1.1970
X< 2. 1968
X3 1965
+ 4 1960

Question ID : 115135804
Option 1 ID : 1151353216
Option 2 ID : 1151353214
Option 3 ID : 1151353215
Option 4 ID : 1151353213
Status : Not Answered
Chosen Option : --
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Q.61 afFeers wog & Fome $r @ & e Rye RN (Poompuhar) ¥5% a2 30HT & oo
g &

Ans o 1. T TAT
X 2. qeRT Hell
v o == qfoEAnRET S

X4 @ @R Hell

Option 1 ID
Option 2 ID

Option 4 ID

Question ID :
: 1151353178
1 1151353177
Option 3D :

115135795

1151353180

: 1151353179
Status :
Chosen Option :

Answered
3

Q.62 frw 1w fwpenl & & 37 HEW F WAA FL, S HEAGTET YU H g9 RES (?) F TUE W AT FhaT
2l

D,E Z IV, M?
Ans X1-T
X2 8
v 3 R
<4 Q

Option 1 1D

Option 3 ID

Status

Question ID :

1151352496

: 1151359984
Option 2 ID :

1151359982

: 1151359983
Option 4 ID :

1151359981

: Not Answered
Chosen Option :
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Q.63 v wu 3R 3EF 1€ o FuA - | A 1l Ry 7w §) 940 F FF F Fua v 7 506 & F o0
w2 £7
EEN

% fAf9a Fg o1 &, 'pu ma kas' F 7Y 'we eat mangoes' ¥ 3H FT HTHT H, ‘mangoes’ F FHT

T 82
HYA:
. ‘Ia ti kas' FT 3% ‘we are graduate’ |

II. ‘hum tup pu’ FT 3% ‘they eat bananas’ ¥

Ans X 1.
Fu | 3T 1l S v Ty Best 999 7 31 & & forw gaea J&F 2
o 2.
Fua7 | 3T 1| TF T HAFT T F 3ca7 &8 & fow qureg F
X 3.
99T FT 3o & & BT Fua | 355e gt ¥, Fafd e || 3 9ITeT F@r g
x 4.
9T & 3ca &7 F O FUF || Fer TAT g, T FUA | Hehel TIT LT 2l
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

1151352501

11513510004
11513510003
11513510001
11513510002

: Answered

1

Q.64 fiw 71w Rwedt & ¥ Fiw T I TN Heead A9 £, S feataiEa weer F e e () F
T U HIE?

298 of 5+ 196 of 5-4+2+098=7

Ans 1. 24
X2 22
x3 19
x4 25
Question ID : 1151352502
Option 1 1D : 11513510008
Option 2 ID : 11513510006
Option 3 ID : 11513510007
Option 4 ID : 11513510005
Status : Answered
Chosen Option : 1
Q.65
T (y+2) =8 3R yz =68, a (y-2)* FF TS AT HiSA0
Ans * 1. 36
2. 40
<3 44
X4 49
Question ID : 1151351187
Option 1 1D : 1151354746
Option 2 ID : 1151354745
Option 3 ID : 1151354748
Option 4 ID : 1151354747
Status : Answered
Chosen Option : 2
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Q.66 g fast - A, B, C, D, E 3R F & & o, ¥, 9, Faw, H1, 36g A 37 & ¥ 0 - & B
T 9EE F &1 D F H T8 §l C F 7 o7 3AGE 96 8, 3T 7 & FEr 96 §1 E F 59U 96

t F = 7 a 3R v6e & AR 7 & smwe e ¥ A 39 T B
T & R s g 2
Ans w1 C
X2 B
X3 D
X4 F

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

1151352481
1151359922
1151359921
1151359923
1151359924
Answered

1

Q.67 ww fafvaw 5z &7 &, 3% 'GREEN' &7 '200222213 frar =mar &, 'BLUE' & '2515622' frar =i &,

ar 34 T A9 F WHITE' #1 78 9o T smeem?
Ans 141918722

<2 41917821

X3 41918622

X 441918721

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352497
1151359986
1151359988
1151359987
1151359985
Answered

1

Q.68 uﬁgﬂ%ﬁﬁ%m&ﬁtﬁgﬂ?mﬁ?%ﬁﬁmﬁ?mﬁmmﬂmmm

Ans 1 93
X2 24
X3 21
X4 22

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351214
1151354855
1151354856
1151354853
1151354854
Not Answered
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Q.69 i smRE Sy wEer F Ay § B § ¥ Fi9 ¥ w2 wew §7
1. 78 ATEET Ffedt F B vew v v greT sot & wEfd wei At f A A6 e

Ans

& 7

2. 7% FgRa St & wetee-anits faww & s g & awr o 8, At e g

X e 2
Xegart1ikadrz
v3 1 A 2, a4r

X4 e 1
Question ID : 115135801
Option 1 ID : 1151353202
Option 2 ID : 1151353204
Option 3 ID : 1151353201
Option 4 ID : 1151353203
Status : Answered
Chosen Option : 3
Q.70 ve e &, T & MY F 14 T wroF fFan, 3 Temer & A9 ¥ 3297 T wod AT wemw &
=T 3t emer & 9= 12 o1y ) s # ot fr sfleaw gue g e 8w 27
Ans 1. B8
<2 5B
X3 48
<4 60
Question ID : 1151352475
Option 1 1D : 1151359898
Option 2 ID : 1151359899
Option 3 ID : 1151359900
Option 4 1D : 1151359897
Status : Answered
Chosen Option : 1
Q.71 T x(x +y+2) =30, y(x +y +2z) =64, zx +y+2)=507¢ a
2(x + y +z) FTAA AT HITST, ST x, v,z > 08l
Ans X1 20
2 24
X3 22
<4 26
Question ID : 1151351212
Option 1 1D : 1151354846
Option 2 ID : 1151354848
Option 3 ID : 1151354845
Option 4 ID : 1151354847
Status : Answered
Chosen Option : 2
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Q.72 f & & frms o8 2021 F geo & wiEw HREAr aw & 9RAT S TARE @ semes o

Ans

¢ . TH.UH. &G0

x 2 ZerER FoE gerer

x o oA g

X4 gre g
Question ID : 115135782
Option 1 ID : 1151353126
Option 2 ID : 1151353127
Option 3 ID : 1151353128
Option 4 ID : 1151353125
Status : Answered
Chosen Option : 1
Q.73 3 .
o=t 1 A 7 Hifew) 316384 + 3256
Ans o 1. 4
X2 3
<3 2
X4 B
Question ID : 1151351200
Option 1 ID : 1151354800
Option 2 ID : 1151354797
Option 3 ID : 1151354799
Option 4 ID : 1151354798
Status : Answered
Chosen Option : 1
Q.74 Feng 2021 &, Fow § ¥ 50 e # mEey 397 89 § WS saRAeaay, (IMC RBNQ)
HHE TEERE A 2020' ¥ TFEATeE T T ar?
Ans - * & s
X1 T S HEIAE UF IEUA P, HAR
5 2.
<r.8r. g svvare iR Rfear sgaa &3, A5s
3 ZT TS.UT. ERIEET I
X3 8 FEIATS, A
v ¢ FEQIET FEIATE, RISl
Question ID : 115135784
Option 1 ID : 1151353135
Option 2 ID : 1151353134
Option 3 ID : 1151353136
Option 4 ID : 1151353133
Status : Not Answered

Chosen Option :
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Q.75 frv av et # ¥ 39 gEwst w1 gaa $ifEw, o S 4o F gem Rt (7) F w99 s

Fwar Fl

123, 123, 110, 110, 121, 121, 108, 108, 2, ?

Ans X 1.123, 123

«2 119, 119
X3 97, 97
X4.127, 127
Question ID : 1151352478
Option 1 ID : 1151359911
Option 2 ID : 1151359910
Option 3 ID : 1151359909
Option 4 ID : 1151359912
Status : Answered
Chosen Option : 2
Q.76 v u W #F Yoo facmmerm S A BT B GEE w SRl S e oa@s &7 ST H0T 63°
A T Ye faewem A= arer o & i feaer 37
Ans X 1. 18.5%
2 17.5%
<3 18%
X4 16.5%
Question ID : 1151351198
Option 1 ID : 1151354790
Option 2 ID : 1151354792
Option 3 ID : 1151354791
Option 4 ID : 1151354789
Status : Answered
Chosen Option : 2
Q77 i Tfaura & 5 sqede & 30T 9RT & FEeaEdr & @ o 32
Ans
x 1. ma 79
v 2 H=oE 76
X 3. A0S 72
X 4. HTEOG 82
Question ID : 115135800
Option 1 ID : 1151353199
Option 2 ID : 1151353198
Option 3 ID : 1151353197
Option 4 ID : 1151353200
Status : Answered
Chosen Option : 2
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O e H ¥ T W@ Qe F et F FE T HenTT 32
Ans X 1. agfaT (Selenology)
X 2. gFger@-Taara (Graphology)

X 3. FeraiaATa (Ichthyology)
4 gFATIATT (Sei
4 (Seismology)
Question ID : 115135814
Option 1 ID : 1151353256
Option 2 ID : 1151353254
Option 3 ID : 1151353255
Option 4 ID : 1151353253
Status : Answered
Chosen Option : 4
Q.79 &y, T T F FH 3H ¥ T TR (WA ) g ¥, W R F
W W Fer AR e s 2
Ans
<00
X1 T FE
X 2. grael
« 5 oIehar
X4 Frel

Question ID : 115135820
Option 1 1D : 1151353280
Option 2 ID : 1151353279
Option 3 ID : 1151353277
Option 4 ID : 1151353278
Status : Not Answered
Chosen Option : --

Q80 Rrar s R AR F O T m aomid o s T am & g P

e

"l gF wE AT dE w0, a F g Aed F T gmt - Remmeast gan v et w war
AT FUA|

HTTOTT:
I. Fsmemenst gamr & T IS F INOTEEET S FE 3gA9 T HdT g
Il g o STaT aae & S Agerd #4T T W@ F

AN X1 e amom |l RfEE &
X2garldkaFEn R g
v 5 Fae arron | e B
x4 | 3R 2= &R &

Question ID : 1151352480
Option 11D : 1151359918
Option 2 ID : 1151359919
Option 3 ID : 1151359917
Option 4 ID : 1151359920
Status : Answered
Chosen Option : 3
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el T 27

T

M<N<O A>B<C=0
oy

I.N>B

L.C>M

AN v Fae ey || TTereT #aT B

X 2 Faer Ty | 9T AT B

X3 ey | 3T 1 @ e T £

X4 dr s | 3l & |l 9o FEar gl

Q.81 Rw 7w Fuat Hy foewdl & wowTEs ) q7 i F R v et § @ w7 @ R v s @

Question ID : 1151352479
Option 1 ID : 1151359914
Option 2 ID : 1151359913
Option 3 ID : 1151359916
Option 4 ID : 1151359915
Status : Answered
Chosen Option : 1
Q.82 gfy gwarsit 33,x,47,83 3T 109 &1 Arew 67 §, & 50,64,100,126 3T x T ARYT Fraar gem?
+ 1. 80.6
x2 80
<3 818
<4 84
Question ID : 1151351188
Option 1 ID : 1151354750
Option 2 ID : 1151354749
Option 3 ID : 1151354751
Option 4 ID : 1151354752
Status : Answered
Chosen Option : 1
Q.83 v IF FETFT T F TS 972nem® ¥l W RmerRr e B swstT F 27 §HET e &0 S
g1 37 27 O e F FA T O SIEFA e grem?
X< 1. 3241 cm?
<2 810mcm?
¢ 3. 9721 cm?
X 4 648w cm?
Question ID : 1151351196
Option 1 ID : 1151354782
Option 2 ID : 1151354781
Option 3 ID : 1151354783
Option 4 ID : 1151354784

Status : Answered
Chosen Option : 3
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W% A Rear F T, 3BT s
Ans x 1. q;i_a:r*-ﬂ ﬁﬁ
X2 gg # ofd« 8 J=r & v &mar

¥ mafaa B

v 5 greifees ATHET
x4 gg Fr et
Question ID : 115135828
Option 1 1D : 1151353312
Option 2 ID : 1151353309
Option 3 ID : 1151353310
Option 4 ID : 1151353311
Status : Answered
Chosen Option : 4
Qss e 3 i
odla goqaiaer H g 5, # ¥ 5w av 7 goaw w47
Ans 1. 1236 CE
X2 1246 CE
X3 1226 CE
X 41256 CE
Question ID : 115135823
Option 1 1D : 1151353290
Option 2 ID : 1151353291
Option 3 ID : 1151353289
Option 4 ID : 1151353292
Status : Answered
Chosen Option : 1
Q.86 Feuww fordey ATFF ATEF TART FIEUAS ATHF Tgg H Tgaed A & @R # &= 77w
o)
Ans X 1. ey
v 2. AT
X3 T
X4 BREr
Question ID : 115135825
Option 1 1D : 1151353299
Option 2 ID : 1151353298
Option 3 1D : 1151353300
Option 4 1D : 1151353297
Status : Answered
Chosen Option : 2
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X 2. fEZEsET 2000
X 3. fEEeET 2003
v 4 fggeT 2001

Q87 TEAITS 3FATHT A AT B T FF S o2
AnS X 1. fargET 2002

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

115135807
1151353227
1151353226

: 1151353225
1151353228

: Not Answered

Q.88 we, 3 & BT F sweiar 1§ ¥ 3, FT B A ¥ T, B F oA F T F AT H I
FET T AT T B A W 3RS W T FAU g2

Ans X Bidyar #r T2

v 2 Sgd
X3 77
X4 g HT T
Question ID : 1151352500
Option 1 1D : 1151359999
Option 2 ID : 1151359997
Option 3 ID : 1151359998
Option 4 ID : 11513510000
Status : Answered
Chosen Option : 4
Q.89 =gsfsr ABCD # =% AB, BC, CD 3R DA, & o3 & &5 P, Q, R 3% 5 W ¥9¢ &eet &) ofy
AB = 16 cm, DS = 10 em 3T RC = 3 cm ¥, & Igsi ABCD & 9 (em #) A Hriw
Ans o q 55
X2 56
« 3. b8
<4 60
Question ID : 1151351209
Option 1 ID : 1151354835
Option 2 ID : 1151354833
Option 3 ID : 1151354834
Option 4 ID : 1151354836
Status : Answered
Chosen Option : 3
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Q.90 26 si=adr 2022 = o & ¥ Forw W REW e ¥ ARAT A # e R oo &
feEar forar ar?

e X1 aftteste Fger RiE
72 T 9= Fo
x s Afffese afa Tgdaar
v 4 AfFese Part By

Question ID : 115135796
Option 1 1D : 1151353184
Option 2 ID : 1151353182
Option 3 ID : 1151353181
Option 4 ID : 1151353183
Status : Answered
Chosen Option : 4
Q91w =T Fe s &, 'RACE' & 'WFHJ' fram =iam & 3R ‘TRAP' &1 ‘YWFU' Rram Jrar €1 338 &2
T & 'FROM' 1 foFm v forgn smeem?
Ans o1 KWTR
X2 KXTS
<3 LWUR
x4 LXUS
Question ID : 1151352472
Option 1 1D : 1151359885
Option 2 ID : 1151359886
Option 3 ID : 1151359888
Option 4 1D : 1151359887
Status : Answered
Chosen Option : 1
Q.92 ¢ :
T 7 ¥ w7 @ gear 8 ¥ Rarsw =38 22
Ans 1. 35412
X 2. 35552
X3 35792
x4 35112
Question ID : 1151351201
Option 1 1D : 1151354802
Option 2 ID : 1151354804
Option 3 ID : 1151354803
Option 4 1D : 1151354801
Status : Answered
Chosen Option : 1
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Q93 o & ¥ Fi & 78 T U ¥ faeet A O wHw ARE F F o A R

Ans =

K1 I
X2 aETer
X3 FE
4 FRTA

Question ID : 115135794
Option 1 ID : 1151353176
Option 2 ID : 1151353175
Option 3 ID : 1151353174
Option 4 ID : 1151353173
Status : Not Answered
Chosen Option : --

Q94 ufreor fFer 7 189 T & 7 F 9 W AT B =
Ans X1- ;_i?n_

X2

X3 grhr

« 4 THeT

Question ID : 115135826
Option 1 ID : 1151353303
Option 2 ID : 1151353301
Option 3 ID : 1151353304
Option 4 ID : 1151353302
Status : Answered
Chosen Option : 4

Q.95 gr ot Fr syemait F I 4 : 3 ¥ 3T 3 ST FT AT 225 cm? | TR T F 9RAT (cm H)
w1 FfFT

Ans X 1. 48
X2 44
X3 30
4 36

Question ID : 1151351213
Option 1 ID : 1151354849
Option 2 ID : 1151354850
Option 3 ID : 1151354852
Option 4 ID : 1151354851
Status : Answered
Chosen Option : 4
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: &I HATT U oEdicEd ¥

Question ID : 115135822
Option 1 ID : 1151353285
Option 2 ID : 1151353286
Option 3 ID : 1151353287
Option 4 ID : 1151353288
Status : Answered
Chosen Option : 1

Q.97 T v FEwr-gEAr # ¥ g A, gET TEm, g FE W UE R wioe @6 s g #
w31 TeaRilE # ¥ 99 TS-gEH vF WA Yed @ 96 W §, A 5H TR TF WA F4n
§1 30 TEA-gEH F 99 W, A 3F TAg & Harod A4 gl

Ans X119, 375
X2 24, 590
v 8, 82
X4 17, 303

Question ID : 1151352504
Option 11D : 11513510016
Option 2 ID : 11513510015
Option 3 ID : 11513510014
Option 4 ID : 11513510013
Status : Answered
Chosen Option : 3

Q.98 zr HfSw % 5 3w 1994 F guaw ¥, & 2 fAdax 1995 &t Toaw & S @1 e gem?
Ans

X 1. WHEET

o 2. ialk'?Ellq

X3.§F-'F=|IT

X 4. HITSET

Question ID : 1151352477
Option 1 1D : 1151359906
Option 2 ID : 1151359908
Option 3 ID : 1151359905
Option 4 ID : 1151359907
Status : Answered
Chosen Option : 2
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Q.99 F=e o1E TodEIE F TR YRUNE BHAEY Fel 9w, gsan # Feona § a9 gefgent & |y
Fr wunait v 3T wr §

Ans 5 1. JTHTIOT
« 2. HEgTeRT
X 3. HIEAR AMFecdord

X 4 T FREEANER

Question ID : 115135819
Option 1 ID : 1151353274
Option 2 ID : 1151353273
Option 3 ID : 1151353276
Option 4 ID : 1151353275
Status : Answered
Chosen Option : 2
Q.100 f a7 Femt i foswst & ca=Es T FU # & T TSR FOWT HAS ge AR F, o+
I THEET: AT T § e g @ @1, i 9w Y fF R v st § @ wiF @ waat =
afeF T ¥ U w4 27
FYA:
1. 7o wreer R ¢
2. Fr5 RAfdcws ofremar 78§
s
. & WrFET eltesRar 78 ¢
II. Tefr SrRET oA F
Ans
X7 ar ey | Al @l g gl
X2 Faer fossy || 9re=T T 2
X3 oy | 3T 1 St e w0 B
¢ 4 FFer Ty | grerT T B
Question ID : 1151352482
Option 1 ID : 1151359928
Option 2 ID : 1151359926
Option 3 ID : 1151359927
Option 4 ID : 1151359925
Status : Answered
Chosen Option : 2
Q101 = gearE #r T F N EEE TEGE W U IRER w1 weares stea s7m T 1,475 OT we
et weomgt % g IRar & O awgst 9T wEen 2 1,200, @ 1,500 N @ 1,875 waw fbw) @i
AT FT FAC W F v Afw Fear # 9fEw F 57 arget W e @
Ans  X1.%1,225
v 2 31,325
X3.31275
<4 31,375
Question ID : 1151351195
Option 1 1D : 1151354779
Option 2 ID : 1151354777
Option 3 ID : 1151354780
Option 4 ID : 1151354778
Status : Answered
Chosen Option : 2
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Q102 gz iy - A, B, C, D 3K E T ¥ 5 OF 5 W@ 9T ¥ STFT C ¥ AT F9er ©F SiFq
T@r T ¢ diew D 3R C & @19 2 dew @ v ¢ Sed E & oY § gEl T O @ A
2| ST A ¥ FIT Ha 2F aad @ AT &1 TIY S BT G aiFT 6T T 87

A X1 stem C
X2 gieg E
X3 grem D
v giFd B

Question ID : 1151352486

Option 1 ID : 1151359942

Option 2 ID : 1151359944

Option 3 ID : 1151359943

Option 4 ID : 1151359941

Status : Answered
Chosen Option : 4
Q.103 s =l 3 Ay 1911 F ama F A F g 3 95 W s e & i § ey

s Sftar @ T f a o |
SRk~ Y

X 2 e FAT VI

73 faar AT I

X4 e FAT IV

Question ID : 115135817
Option 1 ID : 1151353266
Option 2 ID : 1151353268
Option 3 ID : 1151353267
Option 4 1D : 1151353265
Status : Answered
Chosen Option : 1

Q104 v arqg & 7 2,332 F d9w W, A @ @ 12% A g5 TG F FT qp haar a2
Ans X112 2,675

X2 %2620

v 3 % 2,650

X437 2625

Question ID : 1151351181
Option 1 ID : 1151354721
Option 2 ID : 1151354722
Option 3 ID : 1151354724
Option 4 ID : 1151354723
Status : Answered
Chosen Option : 3
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Q105 2 3rerar-3reT WEATHT FT Hegeds WHTSF (HCF) g2erm 1 @ &, =7
Ane X 1. 2T EaTT T TEE AT §
v 2. 2 I 3eT=T TEATT BT B
X3 weh wEdr AR g € 3R gl vew wH g ©
X4 AT FEET HEE & g g

Question ID : 1151351206
Option 1 1D : 1151354823
Option 2 ID : 1151354824
Option 3 ID : 1151354821
Option 4 ID : 1151354822
Status : Answered
Chosen Option : 2

Q.106 r@aa:rmwagwezafrgsnmlmmm#mﬁﬁgmm
Ans Sy, FTTEAT

e
X2 FETEER
< 3. Q:;T:El'l?
o 4 AT

=2

Question ID : 1151352503
Option 1 ID : 11513510011
Option 2 ID : 11513510009
Option 3 1D : 11513510012
Option 4 ID : 11513510010
Status : Not Answered
Chosen Option : --

Y frAfaea # ¥ Fla @ 7 Ry 78 & wgms
A k. gEaadr

X2 g e
o 3. =dTH

X4 i

Question ID : 115135792
Option 11D : 1151353167
Option 2 1D : 1151353165
Option 3 ID : 1151353166
Option 4 1D : 1151353168
Status : Answered
Chosen Option : 3
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Q.108 w;wﬁmagﬁa‘rﬁﬁ ﬁﬁ'mzﬁ,iﬁé’mﬁrlﬁaﬂ?ﬂwﬁ%mﬁrlﬁlﬂﬁmaﬁﬁmﬁﬁ@r
we, e S B wE § 84 3w o, o 37 & g @ &1 por den e o7

Ans X 1.180
<2 90
3. 270
x4 360

Question ID : 1151351189
Option 1 ID : 1151354754
Option 2 ID : 1151354755
Option 3 ID : 1151354753
Option 4 ID : 1151354756
Status : Answered
Chosen Option : 3

Q.109 & o Seerdt F7 CAATEH FITA HY, 3R TG TC TG P Ieo] &

% 399 ¥ AN FEF FA W A3 § AN AW AW, AT H AR g F ¥ vE & 7w A $ §)
T ¥ ufFEdl F@ AW E # AR g, Fulw A F Aew 7 4 afEed w1 g A9 F R % el
foem # 31 FF & q@ Fw B AN, AR 9T 9 F aF AR AW B W deT ¥ A9 W oA
g #r 3R 2, Afe 98 e & S T # A7 dor §1 Hee M e & f ee v cgfed dar
T FEE, FHAET F o5 AR gE TA W A F| FACT F AW g A AN ¢ TAE, FAw F O
T F FEr &S B

Tha ¥ Taw F mfafa § @ S o 5w o 37

M oHd W HT B % $g @ ST AR
X2 gold, HT=E AR e gt % 8% W 7 d9T g
X o FEE, T F a8 3R S T W AT B
X 4 AT, HTE F & TS H T g

Question ID : 1151352476
Option 1 1D : 1151359902
Option 2 ID : 1151359904
Option 3 1D : 1151359903
Option 4 1D : 1151359901
Status : Not Answered
Chosen Option : --

Q.110 et amaa # srww, Trwdr Fag Mt Gte 1 oaee 95 & 180 cm? ¥ 3OS & 9 7
Enic |

Ans 1 56 cm
X2 42 cm
X3 70 cm
X4 54 cm

Question ID : 1151351185
Option 11D : 1151354738
Option 2 ID : 1151354740
Option 3 ID : 1151354737
Option 4 ID : 1151354739
Status : Answered
Chosen Option : 1
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QM o srefeier 7 U7 T &THe 108w om® ¥ 5H IR T HIAA e FOm?
At @1 144m cm®

X 2. 544/311 cm?

K3 216mcm?

X 4. 10861 cm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351197
1151354786
1151354788
1151354785
1151354787
Answered

1

QN2 3Rt & 37 g # 974 Rfew, BF & 78 @ F Rog e # #EF 50§ @ )W gEe
quT g Free

XY_XY_ _ZXYX_ _XYXY_ _

Ans X1 YXYYZZXY

X 2. ZYYYZZXY
o 3. ZXNYZZXY
X4 IXYYZZXZ
Question ID : 1151352483
Option 1 ID : 1151359929
Option 2 ID : 1151359932
Option 3 ID : 1151359930
Option 4 ID : 1151359931
Status : Answered
Chosen Option : 3
Q113 o fst - A, B, C, D 3t E #r 31g 370 - 31 §1| E 67 H1g Faw 2 safeaat @ wfow &) D #
Y F9 TH W ¥ FA g a%Aaﬁrmmm% H’rﬁmﬁ‘@?—rﬁﬂaﬁmmﬁﬁ;&
ﬁﬁar—r T T FWE &7
Ans .
x1. B 3R E, & 998 FH I & o ¢
X2 C 3T D, & ¥9@ &7 ¥ ¥F =ufaa gl
X3 C AR E, 3 wa8 &7 3 & Afad 2|
v+ C #R B, & Wa¥ FH 7Y F AlFd 2|
Question ID : 1151352487
Option 1 ID : 1151359948
Option 2 ID : 1151359945
Option 3 ID : 1151359947
Option 4 ID : 1151359946
Status : Answered
Chosen Option : 4
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U o WU = FlA T =0T HERA & IeHp § Herod €7
Ans o1 3T=sE 17

X 2. M= 16

X3 3o 19

X4 HI=OC 18

Option 3 ID

Status

Question ID :
Option 11D :
Option 21D :

115135803
1151353211
1151353212

: 1151353210
Option 4 ID :

1151353209

: Answered
Chosen Option :

1

QM5 fom & 7 frw F1-a1S efewe & 39T BET 10 (Windows 10) fwes & g v & 4= fFaw

= & e e s £
Ans w1 Alt + Tab
X2 Ctrl + N
X3 Ctrl + Tab
X4 Alt + N
Question ID : 115135829
Option 1 1D : 1151353314
Option 2 ID : 1151353316
Option 3 ID : 1151353313
Option 4 ID : 1151353315
Status : Not Answered
Chosen Option : ==
Q116 7fy '« Fr 3f we=T §, ' F ad g &, F AT s g v Y F sk an §, & Seefefae &
¥ FiT 7 AFET A/ &7
Ans X1.9+28-10x 15+ 9 =10
v216 +20-6 +10 x 12= 16
X3 45-15 + 15 x 60 + 16 = 42
Xa 25+ hix 20 +5 = 1= 8
Question ID : 1151352491
Option 1 ID : 1151359964
Option 2 ID : 1151359962
Option 3 ID : 1151359963
Option 4 1D : 1151359961
Status : Answered
Chosen Option : 2
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N e TSI & T IRINF o F989 &
Ans x 1. ﬁ%‘l’{

X2 el 9&wr
v 3 3ErET
X4 H Eiqaq
Question ID : 115135827
Option 1 ID : 1151353305
Option 2 ID : 1151353307
Option 3 ID : 1151353306
Option 4 1D : 1151353308
Status : Answered
Chosen Option : 3
QM8 roger a&elie &, TfFT d $r FHAT (content) ¥ g g g
Ans > 1. grgee §X (Title bar)
X2 FTeEH S (Status bar)
v & e 81X (Formula bar)
X4 7 F1@ (Name box)
Question ID : 115135830
Option 1 ID : 1151353317
Option 2 ID : 1151353320
Option 3 ID : 1151353319
Option 4 ID : 1151353318
Status : Not Answered
Chosen Option : --
QM9 v sonT &, za T A o) AR F age & FAE 1 WA AT A TR A A1 H T
FAiRT 3T a7 of| W 9 - A, B, C, D, E, F 3R G # ¥ 5% v AW W WA g, 9
S ST FH F g HEa 77 21 G A FHF 4 W T/ gl E F A & Anr Fua ™ g
@ g1 B, A 1 Ao & &% FUT T AfSe W @A 81 C, G 7 Afaw & & & e e |
TET T F T90 T3 el Afe W B ¢ #fee #7010 ST | 32
Ans X 1. A
2 D
X3 6
x4 E
Question ID : 1151352494
Option 1 ID : 1151359975
Option 2 ID : 1151359973
Option 3 ID : 1151359976
Option 4 ID : 1151359974
Status : Answered
Chosen Option : 2
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Q120 faw v 3@ T HeTAT F, HT TF T g F 3T &
T T T v FN I RS o et $ g o R R weat (e &) @ e ¥

100 92
%0 855
- 80 7
0 70,
- 69
65
In »
3 60
€
= 50
g © = Cost Vahue
S  Sakes Value
20
10
[
v w x ¥ z
PRODUCT

(Fesr - values (in lakhs) - Heg (FF #), product - 3c91E Cost Value - &1 He, Sales
Value - fsfT #77)
ST 7 R Ieug # Adiimaw sy wiEa B

Ans i FegTE
X2 39¢ Z
X3 3ede X
X4 3cqe W

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352505
11513510017
11513510020
11513510019
11513510018
Answered

1
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